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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2.  Answer any five. All questions carry equal marks.

3. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. Explain how the Kaldor-Hicks criterion is consistent
with wealth maximization. Bring out the role of

marginal analysis and consent under the criterion.
(5+10)

T} fF Feer-fRew wmeEs om sftreewEr  (wealth
maximization) ® ITET DY B AHGE & TBA QAT [ATATT
3R FeAfa &t e F IARR W)

2. (a) Consider a contract between buyer B and seller S
for the delivery of a good that S must produce.
Suppose that the value of performance to the
buyer, V, nonsalvageable reliance by the buyer,

R, and price, P (payable on delivery) are:
V = Rs. 200, R = Rs. 50, P = Rs. 120

Suppose that at the time the contract was made,
the cost of production, C, was uncertain. However,
when the time of production arrives, it takes one

of five values (in Rs.):

{45, 90. 185, 210, 240}.
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After observing C, the seller must decide whether
to produce and deliver the good, or not produce it
and breach the contract.

(i) For what value(s) of C (if any) is it
efficient to breach the contract?

(ii) For what value(s) of C (if any) will the
seller breach under expectation damages?
Under reliance damages? Under zero

damages? How do your answers compare
to (i)?

(b) Does a limited expectation damage measure (as
opposed to an unlimited one) lead to an efficient

level of reliance? (6+9)

(37) WleR B 3R fadhar S & 99 v sgEy W AR W@
SR S I Ieae e Wil A A B @R
& fav woul= &1 wwm, v, smReddm ffar
(nonsalvageable reliance), R, 3R ¥, P (R w
) &

V=200 ¥, R= 50 ¥, P = ¥4 120
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{45, 90, 85, 210, 240}!

C &1 Faolleh & & o6, [har & 78 a9 &
B f&F & Wet @ Sare 3R feRer s B A AR
FEAT B 3R IEU H Jeodu HET B

o~

() C (R = A) = e =@ (@) & fow
IR T IoATT HEAT HIAA B 7

(i) C (aR = A) & frw @@ (@) & o
fadar IHile & JHEE & GEd Jead HAN 7
ol & w8 s T THEE & ded !
Fd I A gern (i) F BF AW A 27

(@) = v Qffa smen &fd W9 (limited expectation

damage measure) (3T & fawa) ke & &
HAA W A AN A AR 27

3. (a) A local village landlord wants to hire Yogesh as

a laborer and offers the package “You work for
me for Rs. 50 for 8 hours per day or else I will
ensure that no shopkeeper in the village will sell
his goods to you.” Does this constitute a valid,

legally enforceable contract?
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(b) What are residual rights of control and should it
matter which party to a contract holds these rights?
Explain with the help of an example. (7+8)

() v ®Fg Tife # TEeR AW w UE AR D w9
¥ W W @ AEA 2 IR YA = JuE; T
? “am R fog vl 8 W & R 50 @ A @
= § A i g5 ghiftea aw gm f wtg @ o
M THFFCR TR JUA A FE AWM T GE U
M, FEN T Y G w A aEy 27

(@) FEaw & srafiee sfereR (residual rights of control )
1 2 SR T TE G @ 2 ey @ e v
@ U A FRER 7 v Seww & e ¥ e
EalE e

What are the assumptions implicit in the Pigovian view
of externalities? How does the Coase Theorem critique
them? Discuss in this context why the Coase Theorem
can be viewed as an irrelevance result? (5+7+3)

TS & AR F el giew ¥ ffa oromd @ 37
TG T ITH A DY e 27 39 Fd F = Aoy
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(a) Despite the loss of welfare from patent, it is better

than the competitive outcome. Do you agree? Why

or why not?

®)

(b) The owner of a house has an unobstructed view

of the mountains from his window. However, the

owner of a vacant plot in front of the house

announces plans to build a house of his own.

Suppose that a one-story house will partially

obstruct the view, but a two-storey house will block

it completely. The builder’s profit and the value

of the owner’s view is shown in the following

table :

No of stories Profit (Rs.) Value of view
0 0 Rs. 7,00,000

1 10,00,000 Rs. 6,00,000

2 . 15,00,000 0

(i) Is it efficient for the house to be built? If

so, how many stories should it be?

(i) Suppose the original owner seeks injunction

halting construction.

Describe the

bargaining between the builder and the

owner if the court refrains to grant the

injunction.
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(iii) Suppose the court grants the injunction.

Can the builder bribe the owner not to

enforce it?

(2+3+2)

(37) WT A Feaw & FHEAT D AN, T g qRom
¥ W B N Y AT 27 | W Y 87

()

TF W H Afork w o Rasa ¥ wE @ s
T R 3@ 2 eeifs, w @ W v @ e
T Hifersh STOAT e H W T FT Ao Fr A
I B AT A o g Ao R w9 A g
é}m&akﬁm,a%wé1ﬁamsns@x@;ﬁga

Ja%E aﬁ'?ml

Ftem & wm aﬁtmﬁm%ﬁanwimﬁwm

A fRewmr w2

No of stories

Profit (Rs.)

Value of view

0 0 Rs. 7,00,000
1 10,00,000 Rs. 6,00,000
2 15,00,000 0

(i) = 7@ W & fefor & o o 37 R o,
@ freit w2 =g ?

g
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(i) W= @ fF w wfs Fefor d9T @ o
fASemET (injunction) e 21 Al e et
3 ¥ i T R A e o Al @ @
Hreaot & oA

(i) = SR fF s fiemn & 81 @ e
@ W W B g e @ Remw @

gerdl 27

Distinguish between the due care approach and
the untaken precaution approach to-negligence
determination. Explain in the context of an accident

in the Indian context. (13)

ARad & el @ fg SR e gfesor sk T @
¢ vefae e & W AR W) STRAT T { gee
& geof ¥ s ik

(a) Consider the unilateral care model of accidents.
Explain how the following would affect the care

choice by the injurer?

(i) if the court systematically errs in setting

the due standard.

(ii) if the court makes errors in calculating the

amount of the victim’s damages.
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(b) What are inalienability rules? Are they incompatible
with the goal of promoting efficient exchange of
property rights? (8+7)

(37) g & vewelm J@we A (unilateral care
model) W farR w1 =wem W & FefRea e

THR "0 e gR e@Wie & faseq 1w
AT ?

(i) R =mem Fag a@e FuiRa & ¥ ek
w8 R R

(i) afR serem AR = T = AR TOE FE
¥ I =@ 2

() s Faw (inalienability rules) =@ 87 =t ¥ Gufy
® AER B (AT ACH -V H a3 B wAe
® WY I 27

In India, there' is excessive litigation for compensatioﬁ.
Can higher compensation reduce litigation? Examine
the changes in the Land Acquisition legislation with
respect to just compensation in India. (8+7)

HRT ¥ F3mas & fog reafis Teahedarsh 2 21 == s
AT HeHeAAST I FA F GHAT 2?7 WRT A G
FHES (just compensation) ® F&a ¥ wfr sftrrevr F

1 G €
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9. Write short notes on any three:
(a) Restitution Damages v Reliance Damages
(b) Commercial Impracticability
(c¢) Hand Rule for Negligence‘.Determination

(d) Trial Delay

el i W afera oot fofen

(31) Restitution 3wt = Remrad %ﬁsr
(¥) el fuRe & fo¢ Hand Rule
(@) oo sreasiien

(2) weor (Trial) ¥ 20

(5%3)

(300)



